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Section : General (English & Hindi)

@1 Select the most appropriate synonym of the given word.

CONCEAL
Ans «'1. hide
< 2. reveal

75 3. repel
75 4. compel

Question ID : 5096477014
Status : Answered
Chosen Option : 2

Q2 gelect the correctly spelt word.

Ans 3 1. mischiefous
v 2. mischievous
#< 3. mischevious
#< 4 mischeivous

Question ID : 5096477017
Status : Answered
Chosen Option : 2

Q.3 The following sentence has been divided into three parts. One of them may be incorrect. Choose the incorrect part from
the given options. If there is no error, mark ‘No error’ as the answer.

I could not understand /his speech /so I did not know French.

Ans X 1. No error
v 2. 501 did not know French
#< 3. I could not understand
7% 4. his speech

Question ID : 5096477022
Status : Answered
Chosen Option : 2
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Select the most appropriate option to fill in the blank.

We took the metro reach the station in time.
Ans X 1. as long as
< 2. while
' 3 in order to

/< 4 in case

Question ID : 5096477010
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate phrase to replace the underlined word in the given sentence.

The operation has been successful. Your father will certainly recover.

Ans 3 1. pull up
/< 2. pull out
< 3. pull in
« 4 pull through

Question ID : 5096477019
Status : Answered
Chosen Option : 1

Q6 Select the most appropriate idiom to fill in the blank.

He is if he fails at this juncture.

Ans o 1. not worth his salt
#< 2. not fit to hold a candle
7< 3. out of spirits
#< 4. anew kid on the block

Question ID : 5096477021
Status : Answered
Chosen Option : 2

Q.7  Select the most appropriate option to fill in the blank. If no word is required select “No word required”.

Drive cautiously. traffic police is quite active here.
Ans X' 1. An
v 2 The
7% 3. No word required
Ka A

Question ID : 5096477003
Status : Answered
Chosen Option : 2
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Select the most appropriate option to fill in the blank.

She is minister of the Central Government.

Ans o 1. the best and most honest
#< 2. best and the most honest
#< 3. a best and honest
#< 4. the best and honest

Question ID : 5096477012
Status : Answered
Chosen Option : 4

Q9 Select the most appropriate phrase to fill in the blank.

Nobody knows what will next.
Ans X 1. turn out
W 2. turn up

75 3. turn off
/< 4 turn in

Question ID : 5096477020
Status : Answered
Chosen Option : 1

Q10 Select the most appropriate option to fill in the blank.

We have been waiting for the bus ten minutes.

Ans xm b}'
< 2. from
v 3 for

< 4. since

Question ID : 5096477005
Status : Answered
Chosen Option : 4

Q1 Select the most appropriate ANTONYM of the given word.

TENDER
Ans  of 1 coarse

# 2. smooth
< 3 soft
/< 4. gentle

Question ID : 5096477016
Status : Answered
Chosen Option : 1
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Q12 Select the word that takes -some as a suffix to form an adjective.
(Some change may be required in the spelling.)

Ans  of 1. trouble
< 2 comfort
/5 3. sense

7% 4 wonder

Question ID : 5096477011
Status : Answered
Chosen Option : 1

Q13 Select the most appropriate option to fill in the blank.

These dayshe  his father in business.
Ans 5 1. had been helping
/< 2. helps
« 3 is helping
/< 4. helped

Question ID : 5096477007
Status : Answered
Chosen Option : 3

Q14 Select the most appropriate synonym of the given word.

DIVINE
Ans X 1. royal

« 2. heavenly
/< 3. spiritual
75 4. earthly

Question ID : 5096477013
Status : Answered
Chosen Option : 2

Q15 Select the most appropriate option to fill in the blank.

There was noise all around I was not disturbed.

Ans  of 1. but
#< 2. because
x 3. 50
/< 4. although

Question ID : 5096477009
Status : Answered
Chosen Option : 1
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Select the most appropriate option to fill in the blank.

The soldier challenged =~~~ enemyin  loud voice.
Ans 1 an, a
/5 2. an, the
v 3 the, a
7< 4. the, the

Question ID : 5096477004
Status : Answered
Chosen Option : 3

Q17 Select the most appropriate ANTONYM of the given word.

DECREASE
Ans  of 1. enhance
#< 2. encroach
/5 3. ensure
#< 4. enforce

Question ID : 5096477015
Status : Answered
Chosen Option : 1

Q18 Select the most appropriate option to fill in the blank.

You TV since 7 p.m. Now go and study.

Ans X 1. had watched
< 2. watch
#< 3. watched
« 4. have been watching

Question ID : 5096477008
Status : Answered
Chosen Option : 4

Q19 gSelect the most appropriate option to fill in the blank.

Anangry bullrushed ~ the children playing ~ the street.
Ans %1 op, at

2 at. in

/< 3. into, into

/< 4. for, on

Question ID : 5096477006
Status : Answered
Chosen Option : 2
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Q20 gSelect the INCORRECTLY spelt word.
Ans  of 1. scienctific

#< 2. scheme

/< 3. sceptic

#< 4. scholastic

Question ID : 5096477018
Status : Answered
Chosen Option : 1

V! et = gEwE REE E
Ans R

X2 e 7 g

X3 et H dar

K< 4 TEr ST A Ter

Question ID : 5096477039
Status : Answered
Chosen Option : 4

°% Fm ¥ wE F wh a= W
ms . T g F

X2 O TH THER

X gear Al ®U

v i\ mETH TET TOT

Question ID : 5096477028
Status : Answered
Chosen Option : 4

Q.23 3_1?:_4_ 3% ﬁﬁ%:
Ans XT :éﬁ"

v 2 wiEafy

X 3. HASAr

=

X 4 FHedrar

Question ID : 5096477035
Status : Answered
Chosen Option : 2

Q.24 e %_h
Ans x 1 ﬁﬂ'

v o
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X o TG

X o T

Question ID : 5096477041
Status : Answered
Chosen Option : 2

Q.25 ‘ﬁﬁﬂ"ﬁl’ﬁﬁ‘lﬁéﬁ?ﬂ‘
Ans X1ET|'3;|T[
v 2 afae
XS.m
X4 g

Question ID : 5096477030
Status : Answered
Chosen Option : 2

O W FC F S A w6 TR
Ane X1 e A e

X 2. AcOTees oTele T

V5 TS FIEH S AT

X4 FC H S 8T

Question ID : 5096477033
Status : Answered
Chosen Option : 3

g = FewA W7

AN o1 Ryt
v 2. TgeEEr
X 3. TorgaeT
X+ g

Question ID : 5096477023
Status : Answered
Chosen Option : 1

** and emg # Al @
g o
X 2 gor gf%r
X3 et B
X Iz
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Question ID : 5096477036
Status : Answered
Chosen Option : 2

% oftg F =T A9 R

Ans (1. ﬁ?
X 2 giEAT

-

X 3 Reas
X4 A

Question ID : 5096477027
Status : Answered
Chosen Option : 1

X 4 e

Question ID : 5096477042
Status : Answered
Chosen Option : 2

W gzame ¥ BT goEE e BT
Ans X gegETET

X 2. THATE

XKoo geaad

v 4 gegfErae

Question ID : 5096477024
Status : Answered
Chosen Option : 4

2 e # Aew
Ans o 1 NETTE
X< 2 R
< 3. g=aT
X4 g8

Question ID : 5096477029
Status : Answered
Chosen Option : 4

il T oeg dET &
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Ans X1 AT
X2 B
Xo o

v 4 e

Question ID : 5096477026
Status : Answered
Chosen Option : 4

@ 3y 3 S TEAT TEEY w1 HS T
Ans 1. Ty AT

X 2 X & e TEraT

v o ycafaE g ST

X 4 TET THeA BreAT

Question ID : 5096477031
Status : Answered
Chosen Option : 3

Q.35

frm T & 9uH 9T TEIEEE @ 37
Avs x| EEIEY HATH

v 2 EJeT] WA

K 3 HegdeT AT

X 4 gdeg WA

Question ID : 5096477038
Status : Answered
Chosen Option : 2

** TT FAE T ag O H HOHR ¢
e K1 9 e
X 2 THF HEHR
X5 FOF AP

(434@1:1?3@'%

Question ID : 5096477037
Status : Answered
Chosen Option : 4

O FE @ sgTa B

Ans x1_ ﬁw
X FEs
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v o wigeToT
X<+ wiafaT

Question ID : 5096477040
Status : Answered
Chosen Option : 3

3 ofrer Fremw i femm I T e w9 E
Ans X1 ars femm ofter & frema

&< 2. Fremg ofer 7 a5 fgam

X s Ry arg e efter A

v 4 ofter & Fremw a3 &

Question ID : 5096477034
Status : Answered
Chosen Option : 4

O T FET FT
Ans (1‘4%3&

&< 2. golrd

< 3. gHTOT

X< 4 99T

Question ID : 5096477025
Status : Answered
Chosen Option : 1

9 e Aeew feET T F v SR g g

A e e e FR
X 2 & ¥ £ IS
XK 3 HT AT e
K4 HTT | aET BT

Question ID : 5096477032
Status : Answered
Chosen Option : 1

Section : General Awareness

Q1 Who became the acting Prime Minister of India after the death of Jawaharlal Nehru?
Ans  of' 1. Gulzari Lal Nanda

#< 2. R. Venkataraman

/< 3. LK. Gujaral

/< 4. Atal Bihari Vajpayee

Question ID : 5096477059
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l Chosen Option : 1 J

Q2 pandit Ravi Shankar is associated with which Indian classical instrument?
Ans X 1. Shehnai

« 2 Sitar
/< 3. Tabla
7< 4. Santoor

Question ID : 5096477071
Status : Answered
Chosen Option : 2

Q.3 Which state has decided to rename all the child care institutes being run in the state as ‘Jagannath Ashrams™?

Ans X 1. Odisha
+ 2. Haryana
/< 3. Bihar
#< 4. Uttarakhand

Question ID : 5096477044
Status : Answered
Chosen Option : 1

Q.4 Which state has launched “Naipunya Ratham®”, a multi-utility vehicle aimed at taking technology and innovation to
remote corners of the state?

Ans x 1. Bihar
v 2. Andhra Pradesh
/< 3. Telangana

/< 4 Arunachal Pradesh

Question ID : 5096477048
Status : Answered
Chosen Option : 3

Q5 WWhich of the following fiuits has been declared as official fruit of Kerala?
Ans  of 1. Jackfruit

/< 2. Pineapple

7< 3. Grape

#< 4. Banana

Question ID : 5096477049
Status : Answered
Chosen Option : 2

Q6 Who among the following was the third Vice-President of India?
Ans o 1. Varahagiri Venkata Giri
/X 2. LK. Gujaral

< 3. VP. Singh
/< 4. Charan Singh

11/40
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Status : Answered
Chosen Option : 3

Parliament?

Ans X 1. Article 63
W 2. Article 108
#< 3. Article 79
#< 4. Article 155

Q.7 Which of the following Articles of the Constitution of India provides provisions for a joint sitting of both Houses of

Question ID : 5096477060
Status : Answered
Chosen Option : 3

Ans < 1. Tejpal Singh Bedi
/< 2. Surinder Singh Bedi
/< 3. Harpal Singh Bedi
+ 4 Sahib Singh Bedi

Q.8 What was the name of the descendant of Guru Nanak Dev who conducted coronation of the Sikh king Ranjit Singh in 18017

Question ID : 5096477056
Status : Answered
Chosen Option : 4

Ans X 1. Patna
/< 2. Jaipur
« 3. Imphal
/< 4. Gurugram

Q9 1 which of the following cities was the 105™ Indian Science Congress held in March 20187

Question ID : 5096477047
Status : Answered
Chosen Option : 1

Ans 1. Arunachal Pradesh
X 2 Sikkim
#< 3. Himachal Pradesh
v 4 Jammu and Kashmir

Q10 Where is Hemis National Park, home to snow leopard, located?

Question ID : 5096477068
Status : Answered
Chosen Option : 1

QM Ant’s sting has which of the following?

Ans X 1. Tartaric acid
# 2 Citric acid
/< 3. Magnesium hydroxide

« 4 Formic acid
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Question ID : 5096477065
Status : Answered
Chosen Option : 4

Q.12 As per the data released by the Sample Registration System for the year 2016, what is the Infant mortality rate in India?
Ans 3 1. 23 per 1000 live births

7< 2. 43 per 1000 live births

« 3 34 per 1000 live births

75 4. 47 per 1000 live births

Question ID : 5096477067
Status : Answered
Chosen Option : 3

Q13 A mango tree is an example of:

Ans < 1. Pseudotroph
/< 2. Heterotroph
+ 3 Autotroph
/< 4. Ambitroph

Question ID : 5096477066
Status : Answered
Chosen Option : 3

Q.14 Which Governor General devised the Doctrine of Lapse during British rule in India?
Ans 1. Charles Metcalfe

7< 2. Lord Ellenborough

#< 3. Lord Auckland

+ 4 Lord Dalhousie

Question ID : 5096477054
Status : Answered
Chosen Option : 4

Q15 WWhich among the following is an important folk music of Karnataka?
Ans X 1. Lavani

/< 2. Bihugeet

+ 3. Bhavageete

#< 4 Kummi Paatu

Question ID : 5096477070
Status : Answered
Chosen Option : 1

Q16 YWhen was “Aspirational district program™ launched?
Ans o 1 January 2018

7% 2. January 2017

3. June 2017

Latest Sarkari Jobs, Govt Exam Results, m
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< 4. June 2018

Question ID : 5096477064
Status : Answered
Chosen Option : 1

Ans

Q17 Which British Viceroy of India was associated with the Ilbert Bill enacted in 18847

#< 1. Lord Northbrook
#< 2. Lord Dufferin
« 3. Lord Ripon

/< 4. Lord Napier

Question ID : 5096477057
Status : Answered
Chosen Option : 2

Ans

Q.18 Who is the first Indian woman wrestler to win a gold medal in the Senior Asian Championships, held in Kyrgyzstan?

#< 1. Babita Kumari
#< 2. Kavita Devi
/< 3. Geeta Phogat
« 4 Navjot Kaur

Question ID : 5096477052
Status : Answered
Chosen Option : 1

Q.19

Ans

Which of the following statements is correct?

r R0

The Speaker of the Lok Sabha is the Supreme Commander of the Defence Forces of India.

K2

The Vice-President is the Supreme Commander of the Defence Forces of India.

v

The President is the Supreme Commander of the Defence Forces of India.

4

The Prime Minister is the Supreme Commander of the Defence Forces of India.

Question ID : 5096477058
Status : Answered
Chosen Option : 3

Ans

Q20 WWhich city in Karnataka is/was known for making wooden toys?

/< 1. Mandya

/< 2. Davangere
« 3. Channapatna
#< 4 Tumkur

Question ID : 5096477069
Status : Answered
Chosen Option : 1

AT THESUT AFAfof@a # & 5w =7 F @R # o g9fee fgys s a7
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RV R p—
X 2 AT ST T
v 3 FEUEE [T
X4 o w—fag 1w

Question ID : 5096477055
Status : Answered
Chosen Option : 3

Q22 11 which Indian city was Krishi Unnati Mela held in March 20187
Ans 1. Ahmedabad

/< 2. Jaipur

/< 3. Bhopal

v 4 New Delhi

Question ID : 5096477063
Status : Answered
Chosen Option : 3

@23 When the National Girl Child Day is celebrated every year in India?
Ans X 1. October 31

X 2 July 3

« 3. January 24

< 4 November 27

Question ID : 5096477072
Status : Answered
Chosen Option : 4

Q.24 Which of the following cities hosted the first International Conference on Sustainable Water Management?

Ans X 1. Meerut
7% 2. Muzaffarpur

/< 3. Mumbai
+ 4 Mohali

Question ID : 5096477046
Status : Answered
Chosen Option : 1

Q25 foafafem & @ kg 30 3o & FreT & e @8 Teeifae TeurEr aftg #1 32
Ans
v . TS

A 2 zarst
<o Faea
X 4 SregaraT

Question ID : 5096477043
Status : Answered
Chosen Option : 3
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L

Q.26 Which Indian player won the IBSF World Snooker Championship in Doha in March 20187
Ans < 1. Aditya Mehta

7% 2. Yasin Merchant
/< 3. Geet Sethi
« 4 Pankaj Advani

Question ID : 5096477053
Status : Answered
Chosen Option : 4

Q.27 Divya Patidar Joshi, who was crowned with Mrs. India 2018 title in the Mrs. India My Identity Beauty Pageant, belongs
to which of the following states?

Ans 1. Gujarat

< 2. Uttar Pradesh
« 3. Madhya Pradesh

7< 4. Maharashtra

Question ID : 5096477045
Status : Answered
Chosen Option : 4

Q.28 Which of the following articles of the Constitution of India deals with the abolition of titles?
Ans  of 1. Article 18

/< 2 Article 36

/< 3. Article 60

/X 4 Article 39

Question ID : 5096477062
Status : Answered
Chosen Option : 3

Q.29 Which woman gymnast became the first Indian to win a world cup medal by winning a bronze medal in Gymnastics
World Cup in Melbourne, Australia in February 20187

Ans 1. Dipa Karmakar
« 2. Aruna Reddy
/< 3. Kshipra Joshi
/< 4. Pooja Surve

Question ID : 5096477051
Status : Answered
Chosen Option : 2

Q.30 Who is the author of ‘Paramveer Parvane’, a book on the bravery of Paramveer Chakra awardees?

Ans 1. Siddharth Dhanvant Shanghvi
« 2. Prabhakiran Jain
/< 3. Arvind Adiga
/< 4. Kamala Markandaya
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Status : Answered
Chosen Option : 4

Section : General Aptitude

Q1 Complete the number series.

64, 216, 512, 1000, 2
Ans 1. 1724

v 2 1728

< 31725

X 4 1721

Question ID : 5096477084
Status : Answered
Chosen Option : 2

Q.2 The efficiency of A is 20 % more than the efficiency of B. Working together, they can complete a certain piece of work
in 10 days. In how many days B alone will complete 50 % of that work?

Ans x1. 3]
v 2 11
<310
X412

Question ID : 5096477102
Status : Answered
Chosen Option : 4

¥ SRR =t F TF HwE & g

oS | Fas | TR | s | RS
i | 2 | 3 U4 | 5

Ans 1. 4,3,1,2,5
X235 21 4
X2 451 3
X41,2,5 4,3

Question ID : 5096477080
Status : Answered
Chosen Option : 1

Q4 GrfefE # ¥ 30 T-TFH F IO B S FT AS H aE TG F 30T B
Ans %1 3e9]

X 2 e

K5 grar

4 THIEES

Question ID : 5096477077
Status : Answered
Chosen Option : 4
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Q.5

Ans

The sum of first 20 terms of i ;

5

X1

11

Xzﬁ

168

v Eye.]

44
19

K4 =

42

is:

Question ID : 5096477089
Status : Answered
Chosen Option : 3

Ans

times as the letters have been used in the word.

FRATERNITY

« 1 FARTHER
#< 2. REFRAIN
#< 3. NITRATE
< 4. TRAINER

Q.6 Select the word from the following options that CANNOT be formed using the letters of the given word only as many

Question ID : 5096477086
Status : Answered
Chosen Option : 1

Ans

X 1.26:78
X2 52:117
23.39:104
W 4 65:120

Q7 Select the number-pair that is different from the rest in some respect.

Question ID : 5096477076
Status : Answered
Chosen Option : 4

Ans

< 1. 385
< 2 38

V3 375
< 4 402

Q.8 A person covers 30% of a journey with a speed of 45 km/h, 48% of journey with the speed of 36 kmv'h and remaining
with the speed of 33 knmv/h. What is his average speed for whole journey in km/h?

Question ID : 5096477101
Status : Answered
Chosen Option : 2

Ans

X 1. GZSGDS
/< 2. DCRICT
« EBSGFQ
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/< 4. GBUIFS

Question ID : 5096477087
Status : Answered
Chosen Option : 4

Q.10 Select the option that will replace the question mark (?) in the following series.

RNX, PKT, NHP.?

Ans X1_ DIQ

# 2. PIR
v 3 LEL
X 4 MGO
Question ID : 5096477078
Status : Answered
Chosen Option : 3
Q.11 If ‘+ means ‘subtraction’, *** means “division’, ‘—’ means ‘multiplication’ and *+* means ‘addition’, then what will be

the value of the following expression?

4-3%x3+2+1

Ans X1_ 6
v 3
X35
X4 8

Question ID : 5096477079
Status : Answered
Chosen Option : 2

Q.12 Xstarted from his home and walked 4 km towards the east. From there, he turned left and walked 3 km. How far and in
which direction is he from his home?

Ans 1. 4 km, east
/< 2. 1 km, south-east
« 3. 5 km, north-east
7% 4. 7 km, north

Question ID : 5096477085
Status : Answered
Chosen Option : 3

Q.13 Ifin a code language SISTER is coded as RTRUDS. then how will you code BROTHER?
Ans X 1. UNFGSSA

v 2. ASNUGFS

X 3. NSAUSGF

< 4. SAUNFGS

Question ID : 5096477073
Status : Answered
Chosen Option : 2

@14 The units’ digit in (53)2 + (27)3 — (32)%! is equal to:
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X
N
t-d

X
Eal
oy o

Question ID : 5096477090
Status : Answered
Chosen Option : 3

Q15 The average of 11 numbers is 42. The average of first 6 numbers is 45 and the average of last 6 numbers is 48. If the 6t

number is excluded, what is the average of remaining numbers?

Ans  of 1. 36.6
<2 388
<3 436
< 4 46.5

Question ID : 5096477098
Status : Answered
Chosen Option : 1

% #J29_1245 = g+ by/5, then the value of (2a + 3b) is:
Ans ‘fq_ 0

X2 -1

X35

X4 -5

Question ID : 5096477091
Status : Answered
Chosen Option : 1

Q.17 The difference between compound interest and simple interest on ¥ 36,000 for 2 years at R % per annum is T 518.40.
‘What is the value of R?

Ans X110 %
V2 2%
<3 8%
X4 14%

Question ID : 5096477097
Status : Answered
Chosen Option : 2

1% The total number of factors of 2400 X 72 is equal to:

Ans x1_ 30
< 2. 60
<3124
v 144

Question ID : 5096477093
Status : Answered
Chosen Option : 1
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Given is a statement followed by three courses of action. Assuming the statement to be true, decide which of the given

courses of action logically follow(s) from the statement.
Statement :
A large number of two-wheeler accidents every year result in severe head injuries.

Courses of Action :

E Riders should be fined for not wearing helmets.
1L Government should bear the medical expenses of people injured in road accidents, as accidents occur due to
poor infrastructure.

.  Two-wheelers should be banned.

Ans o 1. Only I follows.

7< 2. Only I and II follow.
/< 3. Only III follows.

/< 4. Only II follows.

Question ID : 5096477081
Status : Answered
Chosen Option : 2

Q.20 A vessel contains 2 litres of pure acid. From this vessel, 200 mL of solution is taken out and replaced by same quantity
of water. This process is further repeated two more times. What is the amount of pure acid in the vessel?

Ans (1. 1446 mL
#< 2. 1400 mL
v 3 1458 mL
K 41428 mL

Question ID : 5096477100
Status : Answered
Chosen Option : 2

Q21 1fa:2b=5:6and3a:2c=5:6,thena:b:cisequal to:

Ans X1 15:25:27
$23:5:9
V3 5:3:0
X 4285215127

Question ID : 5096477096
Status : Answered
Chosen Option : 4

Q.22 The sum of digits of the smallest number which is perfect square and is closest to 59678 is:
Ans x 1. 22

X2 26

X3 24

v 4 28

Question ID : 5096477088
Status : Answered
Chosen Option : 4

Q.23 What is the sum of digits of the least number which when divided by 18, 24 and 30 leaves the same remainder 8 in each

case and is divisible by 19?

Ans J1_ 26
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<222
<320
<4 24

Question ID : 5096477094
Status : Answered
Chosen Option : 1

Q.24 The Republic Day of India in the year 2013 fell on Saturday. On which day of the week was it celebrated in the year 2017?

Ans o 1. Thursday
/< 2. Saturday
/< 3. Tuesday
/X 4. Wednesday

Question ID : 5096477074
Status : Answered
Chosen Option : 1

Q.25 What is the least value of x for which the 7-digit number 6893x54 is divisible by 227

Ans x1_ 3

?
<36
8

Question ID : 5096477095
Status : Answered
Chosen Option : 4

Q.26 Select the correct mirror image of the following figure if the mirror is placed to the right of the figure.

Ans

<3 —}T

x4 —“l

Question ID : 5096477082
Status : Answered
Chosen Option : 2
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A person marks his good 35% above the cost price. He sells 40% of goods at the marked price, 25% of goods at 8%
discount and remaining at x% discount on the marked price. If his overall profit is 24.74%, what is the value of x?

Ans  of 116
X215
<318
<420

Question ID : 5096477099
Status : Answered
Chosen Option : 2

Q.28 Ina code language, WATER is written as VBSFQ. How will PLANT be written as in that code?
Ans 51 QMBOU

v 2. OMZO0S

#< 3. RNCPV

X 4. NNCPR

Question ID : 5096477083
Status : Answered
Chosen Option : 2

Q.29 There are five teachers in a school. Arun and Bindu are teaching Hindi and English. Champa and Dhruv are teaching
English and Geography. Dhruv and Arun are teaching Mathematics and Hindi. Ekansh and Bindu are teaching History
and French.

Which subject is being taught by maximum teachers?
Ans X 1. Hindi

/< 2. French

/< 3. Geography

« 4 English

Question ID : 5096477075
Status : Answered
Chosen Option : 1

@30 The value of 1.7 + 0.289 — 1.39 is equal to:
Ans X 10587

Question ID : 5096477092
Status : Answered
Chosen Option : 3

Section : Teaching Aptitude

Q.1  Identify the type of counselling in which a counsellor plays an important role of being the authority that states a
judgment over any problem.

Ans o 1. Directive counselling

7< 2. Cognitive behaviour therapy

/< Eclectic counselling
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/< 4. Non-directive counselling

Question ID : 5096477119
Status : Answered
Chosen Option : 2

2V ST & O Y o # afFT shre A S

Ans XT TB[%
v 2. greraT
#< 3. goT
<4 TS

Question ID : 5096477110
Status : Answered
Chosen Option : 2

Q.3  Which of the following DOES NOT come under the cognitive domain of Bloom’s Taxonomy?
Ans 3¢ 1. Synthesis

7< 2. Application
/< 3. Evaluation

« 4 Characterising

Question ID : 5096477109
Status : Answered
Chosen Option : 3

Q.4 Which of the following mental abilities is NOT included in Kelley’s Multi-factor Theory of Intelligence?

Ans X 1. Memory
75 2. Perceptual ability
+ 3 Word fluency
/< 4. Spatial ability

Question ID : 5096477105
Status : Answered
Chosen Option : 4

Q.5 Inthe skill of probing questioning in science, when the teacher asks the rationale of the response from the students, it
results in:

Ans 1. seeking further information
/< 2. refocusing
/< 3. redirecting

o 4. developing critical awareness

Question ID : 5096477116
Status : Answered
Chosen Option : 1

Q.6  EURET # wiftwR gfawaer st Redwer & s e M PR R F E e R v &

HET FT TF SEL0T 27
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X 2. aEme
v 5 mTATEEY- 3Ty
X 4 FAETE TET JT AT

Question ID : 5096477112
Status : Answered
Chosen Option : 3

Q.7 is a teaching strategy that uses several methods to support early readers in gaining skills one by one. The goal of
this reading instruction is to establish positive practices that help students develop stronger reading comprehension.

Ans 1 SQ3R
/< 2. Reading reflection
7< 3. Passive reading method

« 4 Scaffolding

Question ID : 5096477118
Status : Answered
Chosen Option : 3

Q.8 qﬁmﬁmaﬁrt%tmwmﬁm@@ﬁ,WMMﬁWqu?
Fr F T H I ST T

Ane 1 A TeTeaT
X 2. AR SeTRRar
X 3. e fEeTaTar
Ko AT s{fEw

Question ID : 5096477114
Status : Answered
Chosen Option : 1

Q.9 Under Flander’s Interaction Analysis Category System of what happens in a classroom when a teacher teaches, the
silence or confusion is put under how many categories?

Ans J1_ 1
X2 7
<34
X402

Question ID : 5096477117
Status : Answered
Chosen Option : 4

Q0 Far freT &, o7 FERT S ReET & @ S T A S S war v
Ans x1mmﬁq—

v 2 YIRS FEIET

X3 ﬁ?ﬁ"uﬁ; FEIET

X 4 e graaw

Question ID : 5096477121
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Chosen Option : 4

T wEemn gl
Ans 1 HATgHcdlcH® TATS

X 2 H=EoEr g
X 3. ofgrafas ga=

X+ Rg@carcas TAT

QM 3z wenfee qomeh st A o S FR @l § ool @ets it dgaw wee Rt o o

Question ID : 5096477115
Status : Answered
Chosen Option : 1

Q12 A mother’s attention to her crying child is an example of
Ans X 1. internal

< 2. volitional

' 3. non-volitional

#< 4 external

attention.

Question ID : 5096477103
Status : Answered
Chosen Option : 1

FESET &, 5T SHh areRer TS 3EET #r s wde B §

X1 T

Ans

Q.13 FaATF F TF AFHUT AF T § mer sREra s 400 € weT ¥ 7% geha 9o
HIGT FT U FTE FA, T F A0 AT A FwmmerE gt A Affmw 7 owE s

Question ID : 5096477120
Status : Answered
Chosen Option : 3

Ans x1_

53

Vi TE 24 FT Y F 1€ TEAT g gl

U1 S seTEanH & Wew & o # ¥ #la W aew e §

T HHI-FAT T AES HA=, A FASE a1 S & B Srele sgrar S 2

X 2 gEF A IF A WeT H FHEAT A B

sEHr RO Sas & TRt F 89 o1 60w &9 & vedieas gt § gl

Question ID : 5096477122
Status : Answered
Chosen Option : 4

i TERTeEE AR gedeT
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X 2 freTeRt T o1 YT
X 3 fRreat FT HETEEA
74 fRreTeRT T HERTHA

Question ID : 5096477113
Status : Answered
Chosen Option : 3

Q.16 Identify the form of vertical mobility belonging to social mobility from the given options.

Ans (1. International mobility
+ 2. Ascending mobility
75 3. Party mobility
7< 4. Occupational mobility

Question ID : 5096477106
Status : Answered
Chosen Option : 2

Q17 ofw o 11 =¥ 317 & 75 ¥ AN 97 WEGE T T A F g aor ¥ a7 A8 fef awer ¥
3R 3T T TEeaTe wga HeoT B gied e % wwemg (MI) feia # ofes @ g, Rw
T REROT & HAAN AT o ol F Hid @ ghewear g &7

Ans x1. * éa
< 2. TIUTCAS - T
v e - afawadr

X 4 oS - AifEE
Question ID : 5096477108
Status : Answered
Chosen Option : 3
Q18 _:
HIOT waRaT ¥ SanT Frfeaa BT T o

e X e TuEs e
X 2 FET gaYe vF Ry JEe
X s s e
v o Tenfaerdy fr snefary Sor gear s

Question ID : 5096477107
Status : Answered
Chosen Option : 2

Q19 1dentify the unconditioned response from the following.

Ans X 1. Loud noise
&< 2. Pain
#< 3. Food
« 4. Startled

27140
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Status : Answered
Chosen Option : 4
Q20 yWhich of the following is NOT an element of good speech?
Ans X 1. Audibility
/< 2. Fluency
« 3. Obscurity
/< 4. Naturality
Question ID : 5096477111
Status : Answered
Chosen Option : 3
Section : Concerned Subject Knowledge
@1 Hybridisation of [NiCl ]2~ is
Ans x 1. sz
< 2 sp?d
J 3. Spa
x 4. dsz
Question ID : 5096477130
Status : Answered
Chosen Option : 3
Q2 TUPAC name of Ky[Fe(CN)g] is
Ans o 1. Potassium hexacyanoferrate(IT)
/< 2. Hexacyanoferrate(IV)potassium
/< 3. Hexacyanopotassiumferrate(II)
/< 4. Hexacyanoferrate(II)potassium
Question ID : 5096477145
Status : Answered
Chosen Option : 1
@3 Which of the following are the coinage metals?
Ans X 1. Cu, Ag, Pt
/< 2. Ir, Pt, Au
/< 3. Ru, Rb, Pd
W 4 Cu, Ag, An
Question ID : 5096477138
Status : Answered
Chosen Option : 4
Q4 What is the decreasing order of bond angle?
Ans X 1. NH3 > CHy > H;0
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% 2. HyO > NH; > CHy
/< 3. CH4 > HyO > NHj3
W 4. CHy > NH; > H,0

Question ID : 5096477162
Status : Answered
Chosen Option : 4

Q5 The wave function y represents the

Ans X 1. intensity function
7< 2. velocity function
7< 3. probability function
' 4 amplitude function

Question ID : 5096477169
Status : Answered
Chosen Option : 3

Q6 Br— CH,— CH,—CH,—Br+7Zn— 2
Ans 1. Propane
/X 2. Cyclo propene

« 3. Cyclo propane
/< 4. 1-Propene

Question ID : 5096477153
Status : Answered
Chosen Option : 3

Q7 A Gouy balance helps in determination of
Ans < 1. magnetic field

/< 2. magnetic permeability

/< 3. Bohr magneton

+ 4 magnetic susceptibility

Question ID : 5096477171
Status : Answered
Chosen Option : 4

Ans ' 1. Adiabatic process
7< 2. Isothermal process
7< 3. Isobaric process

7< 4. Reversible process
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Q8 1n which process, NO heat enters or leaves the system during any step?

Question ID : 5096477166
Status : Answered
Chosen Option : 1
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Q9 Which of the following is the correct decreasing order of ionic radii?

Ans X1 gnt+ > Ind+ > Ca?t > Sr2t
X 2 Sn** = In3* > Sr?* > Ca?*
< 3 Caft s Britos It o St
W 4 Sr2t > Ca?t > In®+ > Sn*t

Question ID : 5096477124
Status : Answered
Chosen Option : 4

Q.10 What is the relation between the equilibrium constant (Keq) and free energy (AG®)?
Ans 1. AG®=2.303 RT In Keq

75 2 AG°=-2303RT InKeq
« 3. AG®=-2.303 RT log Keq
/< 4 AG°=2.303 RT log Keq

Question ID : 5096477161
Status : Answered
Chosen Option : 3

Q1 High spin complexes have:

Ans X1 P=A=0
K2 P=A
K3 P<A
v:iP=A

Question ID : 5096477146
Status : Answered
Chosen Option : 4

Q12 Which product is formed in the following reaction?

2CH;I+2Na

Ans  of 1 CyHg+ 2 Nal
7% 2. CHy + 2 Nal
2 3 CoHsI +2 NaH
/4 2CH3Na+1

Question ID : 5096477148
Status : Answered

Chosen Option : 1

Q13 The correct Bragg’s equation for a first order reflection is represented by:

Ans X 1. 2), = dsine

W 2. ). = 2dsine
< 3 h=d/2sine
< 4. ). =dsine

30/40
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Question ID : 5096477180
Status : Answered
Chosen Option : 2

Q14 wWhich of the following is correct regarding an exothermic reaction?
Ans  of 1. AH=-ve

X2 AH=0
X 3. AH =+ve
X4 AE=0

Question ID : 5096477172
Status : Answered
Chosen Option : 1

Q15 Which of the following compounds has the highest melting point?
Ans X 1. Catechol

#< 2. Resorcinol

/< 3. Quinone

« 4 Hydroquinone

Question ID : 5096477156
Status : Answered
Chosen Option : 4

Q16 YWhat is the intermediate in following reaction?

CH3;—CH=CH-CH;+03 2 CHy;— COH
Ans  of 1. Ozonide
/< 2. Ozone

7% 3. Free radical
/< 4. Ozonone

Question ID : 5096477154
Status : Answered
Chosen Option : 1

Q17 What is the correct decreasing order of boiling point?
Ans X 1. Neopentane > Isopentane > Pentane

« 2. Pentane > Isopentane > Neopentane

7< 3. Isopentane > Neopentane > Pentane

7< 4. Neopentane = Isopentane = Pentane

Question ID : 5096477149
Status : Answered
Chosen Option : 2

Q18 Which of the following compounds is the milk sugar?

Ans X 1. (+) - Fructose
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25 3. (+) - Sucrose

S 4. (+) - Glucose

Question ID : 5096477159
Status : Answered
Chosen Option : 2

Q.19

Ans

According to the Bronsted-Lowry concept. a base is a substance:
/< 1. which has a tendency to donate a proton.

+ 2. which has a tendency to accept a proton.

/< 3. which has a tendency to donate an electron.

/< 4. which has a tendency to accept an electron.

Question ID : 5096477176
Status : Answered
Chosen Option : 2

Q20 which is the highest oxidation state of metal in the fourth period?

Ans X 1. Energy
/< 2. Enthalpy

< 3. Volume
o 4. Temperature

Ans X' 1. Os

X2 Cr

X 3 Fe

« 4 Mn

Question ID : 5096477144
Status : Answered
Chosen Option : 4

Q.21

Which of the following is an intensive property?

Question ID : 5096477177
Status : Answered
Chosen Option : 4

Ans x1_ 0
X255
<36
a7

Q22 wWhat is the number of skeletal electron pairs in BsHg ?

Question ID : 5096477134
Status : Answered
Chosen Option : 1

Ans X 1. Methionine

Q23 WWhich of the following amino acid contains the hydroxyl group?
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v 2. Serine
/< 3. Cysteine
# 4. Cystine

Question ID : 5096477158
Status : Answered
Chosen Option : 1

Q.24

Ans

Which of the following is a sublimation reaction?

K1 SeL
K2 LesV
K3 GV
J4. SV

Question ID : 5096477168
Status : Answered
Chosen Option : 4

Q.25

Ans

Magnetic moment of Cr**is

< 1. 2.83BM
v 2. 490 BM
< 3 592 BM
< 4. 3.87BM

Question ID : 5096477128
Status : Answered
Chosen Option : 2

Ans

Q26 saponification is a process of

/< 1. formation of amide
7< 2. formation of ester
« 3 hydrolysis of ester

7< 4. hydrolysis of amide

Question ID : 5096477150
Status : Answered
Chosen Option : 2

Ans

v 1. [Kr] 4d°5s?
< 2 [Ar] 3d*4s?
X 3. [Kr] 4d*5s?
X 4 [Kr] 3d°4s?

Q27 \What is the correct observed electronic configuration of molybdenum?

Question ID : 5096477127
Status : Answered
Chosen Option : 1

The Gibbs-Helmholtz equation is represented by:
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Ans
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Question ID : 5096477181
Status : Answered
Chosen Option : 2

Ans

Q29 Glucose and mannose are

75 1. C4— Epimers
7% 2. Cs - Epimers
7% 3. C3 - Epimers
« 4 Cy — Epimers

Question ID : 5096477160
Status : Answered
Chosen Option : 4

Q30 select the option showing how to prepare (BN), from B, H,.

# 1. mole.ml!
v g,eqnivalent.lit'l
/< 3. mole. Kg'l

< 4 mole lit-!

Ans
ByHg + HNO> hv
/< 1. bag L
B-Hg ~ Excess NHz A
W 2 BrHg P,
B-Hg -NH3; A
< 3. BoHg 5
' A
X 4. BoHg - HNOy =
Question ID : 5096477140
Status : Answered
Chosen Option : 2
Q31 The units of normality are:
Ans

Question ID : 5096477178
Status : Answered
Chosen Option : 2

Ans

Q32 Which is the simplest a-amino acid?
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/< 2. Alanine
« 3. Glycine

75 4 Leucine

Question ID : 5096477151
Status : Answered
Chosen Option : 3

Q33 Which of the following is colourless?
AnS o1 [Cr,0,]%

X 2. MnOy4

X 3. [Ni(H,0)¢**

« 4 [Cu(PPhy),]*

Question ID : 5096477141
Status : Answered
Chosen Option : 4

Q34 Which of the following is a diamagnetic complex?
Ans X 1 [Ni(NH5)6)%*

X 2. [Ni(H,0)5NH;]?*

v 3. [PtCL %"

4 [NiCl ]~

Question ID : 5096477143
Status : Answered
Chosen Option : 3

Q35 Which of the following compounds is paramagnetic?
ans 0,

r A

X3 C

X4 Ny

Question ID : 5096477164
Status : Answered
Chosen Option : 1

Q36 Calcium carbide is hydrolysed to form:
Ans o 1 acetylene
< 2. ethene

7< 3. methane
/< 4. ethane

Question ID : 5096477147
Status : Answered
Chosen Option : 1
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@37 \What is the oxidation state of [Ni(en)]%* 2
Ans 4 1]

v +2

K3 44

X4 +3

Question ID : 5096477132
Status : Answered
Chosen Option : 2

@38 YWhich metal contains ‘limonite’ mineral?
Ans x 1. Cr

v 2 Fe

X 3 Co

X4 W

Question ID : 5096477137
Status : Answered
Chosen Option : 2

Q39 YWhich spectral series is suitable for the Balmer series?
Ans 5 1. Micro region

/< 2. Ultraviolet region
« 3. Visible region

/< 4. Infrared region

Question ID : 5096477123
Status : Answered
Chosen Option : 2

Q40 CcH; - C=CH+ CH3;MgCl—?
Ans X 1. CH3C = CCH;

7% 2. CH3;—CH;j

< 3. CH3CH=CH,

v 4 CH4

Question ID : 5096477155
Status : Answered
Chosen Option : 1

Q4 YWhich of the following DOES NOT obey the EAN rule?

Ans XK1 Mn, (€04
< 2. Cr(CO),
v 3 V(CO),
< 4. Fe(CO)s

Question ID : 5096477131
Status : Answered
Chosen Option : 3
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Q42 wrhat is the structure of NiCl, (PPh;), 2

Ans 1. Trigonal planar
#< 2. Linear
/< 3. Square planar

+ 4 Tetrahedral

Question ID : 5096477142
Status : Answered
Chosen Option : 3

Q43 YWhat is the unit for conductance?
Ans 1. watt

v 2. siemens

/< 3. ampere

#< 4 ohm

Question ID : 5096477173
Status : Answered
Chosen Option : 2

Q44 Charles’s law is observed at:
Ans X 1. constant volume

/< 2. constant volume and pressure
/< 3. constant temperature

« 4. constant pressure

Question ID : 5096477165
Status : Answered
Chosen Option : 1

Q45 Ascorbic acid is found in
Ans % 1. aspirin
7% 2. vinegar

v 3. vitamin-C
7< 4. battery acid

Question ID : 5096477163
Status : Answered
Chosen Option : 3

Q46 YWhat is the stability order of inert gases?
Ans X 1. Kr> Ar> Xe

X2 Ar=Kr=Xe

X3 Ar>Kr>Xe

v 4 Xe>Kr> Ar
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l Chosen Option : 3

Q.47 Which of the following is the decreasing order of reducing strength of lanthanides?
Ans X 1. Sm?* > Eu?* > Yb?+

X 2 Eu?* > Yb?* > Sm?t

V'3 Sm?* > Yb** > Eu?*

K 4 Eu?* > Sm?* > Yb?*

Question ID : 5096477129
Status : Answered
Chosen Option : 1

Q48 what is the oxidation state of chlorine in Cl,0; ?

Ans x 1. =2

Question ID : 5096477135
Status : Answered
Chosen Option : 2

Q49 The nucleoside composed of adenine with B-D-ribose is called
Ans o 1. adenosine

7< 2. deoxvyadenosine
/< 3. thymine

/< 4. guanine

Question ID : 5096477152
Status : Answered
Chosen Option : 1

@90 The PHof 1 * 10 M HCI solution is:
Ans 1. 6.980

# 2. 6.960

< 3. 6.979

v 4 6.997

Question ID : 5096477174
Status : Answered
Chosen Option : 2

Q.51 Which of the following is the decreasing order of oxidizing power of halogens?
Ans X 1. I>Br>Cl>F

X2 1>Cl>Br>F

X3 Cl>F>Br>I

V4 F>Cl>Br>1

Question ID : 5096477126
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l Chosen Option : 3 J

Q.52 Which of the following is the correct increasing order of ionization energy?

Ans 1. He < Ne < Ar < Kr
X 2. Ar<Kr<Ne<He
'3 Kr<Ar<Ne<He
< 4 He<Ne<Kr<Ar

Question ID : 5096477125
Status : Answered
Chosen Option : 3

Q.53 A eutectic mixture in a binary system have

Ans x1_ 0

3
<3l
2

degrees of freedom.

Question ID : 5096477179
Status : Answered
Chosen Option : 4

Q@54 Forevery 10° C rise of temperature, what is the rate of a reaction?

Ans X 1. Attains equilibrium
« 2. Increase by two fold
/< 3. Decrease by two fold
/< 4. No change

Question ID : 5096477175
Status : Answered
Chosen Option : 2

Q55 Cyeclohexanone reacts with diazomethane to produce

Ans % 1. cyclohexane

+ 2 heptanone
/< 3. heptane

/< 4. cyclohexene

Question ID : 5096477157
Status : Answered

Chosen Option : 2

Q56 1 Vander Waal’s equation, Pressure correction is represented by:s

Ans

< 2 Pideal = Pobserved - Peorrected
~ 3 Pideal = Peorrected - Pobserved
v Pideal = Pobserved T Prorrected
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Question ID : 5096477182
Status : Answered
Chosen Option : 4

Q57 Which of the following has the highest enthalpy of formation?
ans  of 1. H-F

X 2 H-H

X 3 H-Cl

/< 4 H-Br

Question ID : 5096477167
Status : Answered
Chosen Option : 1

Q58 Select the products of following reaction.

ZBBiL 3 H,
Ans  of 1 2B+ 6HBr
2 2 B,H,+3Br,
/<3 ByH;,+ 2 HBr
24 B,H,+ 6 HBr

Question ID : 5096477133
Status : Answered
Chosen Option : 2

Q39 De Broglie relation is represented by

Ans X' 1. h=p.h

X2 h=np
W3 L=hp
X4 A=ph

Question ID : 5096477170
Status : Answered
Chosen Option : 3

Q.60 yhat is the correct increasing order of boiling points of borane?
Ans X 1. BH,, < B5H,; < B:H, < B,H,,

X 2. BeHy < ByH, < BoHyi < BeHio

v 3 B,H,, < B5H9 < B.H,; < B.H,,

X4 B:His<BH<BH, < BH;y

Question ID : 5096477139
Status : Answered
Chosen Option : 1

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click






https://www.facebook.com/prepp.in.exams/
https://www.instagram.com/prepp_in/
https://twitter.com/prepp_in
https://in.pinterest.com/prepp_in/
https://www.youtube.com/channel/UC5lbyL9e2Nxqev5_kWtZCwg
https://t.me/Govt_Jobs_PREPP
https://prepp.in/
https://prepp.in/government-jobs-2021-news

